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Practice Test

Test 1
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BT GES/NE; ®/ME LS5, W5 7.55)

YR S BxE, BEAHEEA—ME, NEFHFAHA, B, C
=EMETE R RAEAT, RSN E; TREEEBAHER,
VR4 10 B AT ] e (218 A O MERIRIE T —/ M8, BERHE(LE—
i .

. How much is the shirt?
A. £19.15. B. £9.15. C. £9.18.
BEEEB.
1. What does the woman find surprising?

A. The man does not have an air-conditioner.

B. The man has not been using his air-conditioner.

C. The summer has been unusually hot.

2. Why will the man call the woman?

A. To ask her about the homework.

B. To talk to her roommate.

C. To give her some information.

3. What clothes will the man probably wear for James’ wedding?

A. His old suit. B. His new suit. C. He is not sure.
4. What does the woman mean?

A. She is still thinking.

B. She has finished ordering.

C. She is guessing.
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5. What will the woman probably do?
A, Ask Alice if the man can borrow the novel.
B. Return the novel to Alice immediately.
C. Help the man to find a copy in the bookstore.
BT (L I5/NMEL BT LS, W 2259
VT S B iR s . SEAHESMBEE ILA/NME, AT
BE A, B, C=ASNPE R ERT, Hirreilaaminifrg. w
BEINERIR AT, RANEREES/ME, BV S B EE.
&/NE 5 BRI B, BBOHETIR P
W —ER R, RS 6 f5E 7 L
6. What is Mr. Tate doing now?
A. Attending a meeting.
B. On a business trip.
C. Enjoying his holiday.
7. What is Mr. Tate’s number in Austria?
A, 22-247-2940. B. 22-247-2914. C. 22-238-8537.
Wi FE—E R, [F55E 8 25 10 .
8. Where is the apartment close to?
A. A bus station.
B. A shopping center.

C. King Street.
9. How many bedrooms are there in this apartment?
A. One. B. Two. C. Three,

10. What does the lady think of the apartment?
A. It is very comfortable.
B. The living room is too big.

C. The rent is too expensive.

T E—ER R, B =S 138,
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11. What do we know about the watch the woman shows the man?
A, It is a Swedish watch.
B. It is the best in the shop.
C. Itis a gold watch.
12. What is the man doing in the store?
A. Choosing a watch for his wife.
B. Appreciating expensive watches.
C. Robbing the store,
13. Why DIDN’T the saleswoman open the safe?
A. She didn't want to,
B. She hasn’t got the key.
C. She is unable to do it.
Wi B AR, RIS 14 25 16 8.
14. What kind of dress does the woman want?
A. A formal dress.
B. A wedding dress.
C. A dress between formal and informal.
15. Which is the woman’s favorite color?
A. Green. B. Pink. C. Rose.
[6. Why DOESN’T the woman buy that red dress?
A. She doesn’t like the style.
B. It is not the right size.
C. It was too expensive.
Wr R BbbRE, [ 17 B 20 M,
17. What is the speaker doing at the moment?
A, Showing the visitors around the sports center.
B. Giving presentation on a sports center.
C. Advertising for a sports center.
18. Which of the following does NOT open all day?
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19.

A. Table tennis court.

B. Tennis court.

C. Swimming pool. '

When can one play basketball at the sports center?
A. From 4pm to 7.30pm.

B. From 1pm to 4pm.

C. From 11.15 to 1pm.

. Which of the following is NOT available at the shop?

A. Sports equipment. B. Drinks. . Books.
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How much is the shirt?
A.£19.15. B. £9.15. C. £9.18.
BEREB.

. What does the woman mean?

A. She thinks the shirt will fit the man.
B. A checked shirt won't look good on the man.
C. The bigger sizes are more expensive.

. What are the man and the woman probably doing?

A. Designing 2 computer program.
B. Watching TV.
C. Looking at pictures.

. Where are these two people?

A. In a cinema.
B. On an airplane.
C.Inacar.

. Why is the man NOT going to the play?

A. He has caught a cold.
B. He heard that the play isn't very good.
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C. He has already seen the play.

5. What did the man suggest Peggy should do?

A. Cancel her appointment.

B. Wait until June.

C. See the doctor now.

BT QRSN BE LS 4, WS 225 41)

W R S BB EM . BB RS AR A JLA/NEE, AR R
BEA. B, C =R PEMRAEE, HrERES0HENAIE, I
BEM GBI AT, RRETERESANE, BMES B TR,
B/ 5 BHE RN ], BRI AL .

W T — Bk R, EIEREE 6 FNES 7 .
6. Which of the following is NOT one of the man's symptoms?

A. Headache. B. Dizziness. C. No appetite.

7. Why CAN'T the man make an appointment with the doctor right away?

A. He doesn’t have insurance coverage.

B. He doesn’t have a social security card.

C. He forgot his social security card number.

Wi N E—BbR, IS 8 EH 108,
8. Why do the two speakers shop at this store?

A. The milk price there is low.

B. There is no supermarket open at that time,

C. It is close to where they live.

9. Why is the milk price there low?

A. To compete with supermarkets.

B. Itis late at night.

C. They have low prices on selected items.

10. What do we learn about the store?

A. It attracts many customers.

B. There aren’t many customers,

C. It has a wide selection of goods.
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12.

13.

What did the man probably do before his retirement?
A. A teacher.

B. A golf player.

C. A worker in a golf club.

Who is Rover?

A. The man’s wife. B. A dog. C. A relative.
How does the man feel about retirement?

A. Fulfilling. B. Relaxing. C. Boring.

Wr T E—Er bR, FEIEE 14 T 16 8.

14.

16.

Which cruise does the man finally decide to choose?
A. The Dive.

B The Reef Cruise.

C. The Quicksilver.

. What do we learn about this trip?

A, Itis asea trip.

B. It is a mountain trip.

C. It is a one-day trip.

How much will this man pay for this trip?

A, $190. B. $300. C. $250.

W E—E R, RIEES 17 B 208,

17.

18.

What is the short talk mainly about?

A. How was the ballpoint pen developed?

B. How did Biro brother invent the ballpoint pen?

C. Why are ballpoint pens popular around the world?
Why did Biro brothers develop a ballpoint pen?

A. Ladislas Biro hated filling fountain pens.

B. They were supported by the president of Argentina.
C. They wanted to open a pen factory.
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19. When did the Chicago man’s first pens enter into the U.S. market?
A.In 1937, B. In 1938, C. In 1945.

20. What is NOT one of the features of Bich’s pen?
A. It can be refilled. B. It writes easily.  C. Itis light.
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. How much is the shirt?

A £]19.15. B. £9.15. C.£9.18.
BEREB.

1. What is the man’s job?
A. A sales clerk. B. A shoe-maker.  C. A receptionist.

2. What does the woman imply?

A. She’d prefer to see a different type of movie than a comedy.

B. She won't be able to go to a movie with the man.

C. She’d like the man to help her with her research paper.
3. Where does this conversation probably take place?

A.In aclothes factory. B. At a laundry. C. In a shop.
4. Why CAN’T the woman make an appointment now?

A. The office is closed for the day.

B. There is an opening at 9 tomorrow morning.

C. The office is not open until 9 o’clock.
5. What will the woman probably do next?

A. Give the man a recipe.

B. Write down the direction to the supermarket.

C. Check to see if the cake is ready.
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6. What does the girl ask the father to do?

A. Share some popcorn and cookies,

B. Read books to her.

C. Go to bed now.

7. Why does the father suggest reading the newspaper together?

A. He wants his daughter to learn business news.

B. He wants to read the newspaper himself,

C. Reading newspaper is more interesting.

T E—EAE, MES 8 W10,
8. Why is the man broke all the time?

A. He doesn't get paid on time.

B. He goes out too much.

C. His pay is too low.

9. How does the man solve his money problem?

A. By making a loan at the bank.

B. By changing his job.

C. By borrowing money from a friend.

10. What do we learn from thé conversation?

A. It is easy for the man to get a loan from the bank.

B. The man’s boss refuse to give him a pay-raise.

C. The man’s parents refuse to help him.

T m—Bebpkl, IS 1 B8 138,
11. What does the woman want to talk about with the man?

A. Going to a friend’s party.
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12.

13.

B. Having a date with her.

C. Postponing dinner with Phoebe.

Why CAN'T the man do the thing as they planned?
A. He forgot it.

B. He didn’t want to offend Phoebe. .

C. He didn’t want to go.

What can we learn from this conversation?

A. The man has canceled the dinner.

B. The man owes some money to the woman.

C. The man will take Phoebe to the: party.

MR —Bokt R, PIES 14 2 165,

4.

16.

Why does the man call?

A. To ask about a Mandarin course.

B. To ask for an address.

C. To ask about accommodation in Shanghai,

. Which of the following is NOT included in the 3000-yvan course?

A. Accommodation.

B. Meals.

C. Course materials.

Where does the man prefer to stay?
A. In the institute.

B. With a local family.

C. Either of the above.

Wr T E—BUbE, [EIEE 17 2520 B,

17.

18.

Where did the Browns leave their dog Rifle?

A. At a special place to take care of dogs.

B. At another dog owner’s home.

C. With a friend who agreed to look after Rifle.

Why DIDN’T the Browns collect Rifle immediately after they returned
from their holiday?
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19.

20.

A. It was too dark to drive.

B. It was too late.

C. They were too tired.

‘Why did the dog bark all the way home?

A. He didn’t enjoy his stay at the place.

B. He had something to tell them.

C. It wasn’t their dog.

‘What can we say about Mr. Brown?

A. He was a bit careless.

B. He didn’t like Rifle as much as his wife does.
C. He didn't care the dog's behavior or their way home.



